EARAROBEEIERT — 2 N— IBISH —F 2018%F7H 158 (H) 3@+ =6H

LB > R3®E 500FATF (B&) [EE] EE

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

=]
[~®4] 1% :7,500,000 @ ~ 23 :3,000,000 ™ ~ 33#:1,900,000” ~ 4 3#:1,100,000 5 #& :750,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = # o4 | KB 1:51.3 3-4-32 | 37.3| 98.1 | 1 516 | HHE= (FH)
1|50 T=71 57.0 =) (g |EEES
LA hk—L B:¥5q T A%
s \ BERER :52. 00— X X BERAIE (ER)
2lgligl 2XH7UA—v [B] i ) 7 i N el el B B}
R:T7UA—Y BTITLFIRH HRZ 2y K
A 4 3 | JIXEE 1:52.3 5-6-6-6 |37.9] 89.2 | 6 492 | EFBR (FH)
30713 N7 — £53.0 ® (va) | PIBED
L:vA7% B:YI Ry —T &I E—
o 1BKI— : -11-10- SHET (ER)
4 7| 2 hOFYZ o4 il 1(.15/22.)4 11-11-10-9 | 37.5 | 88.2 | 5 ?3)2 sozd
RNy gLhTr B:S5TH—F BB ALS
N B4 | KOFEH 1:52.5 5-5-4-4 |38.3| 87.6 | 7 510 | HEMER (3ER)
5 5 T+ LA NG 57.0 (1/2) +2) U EFIR
L:TVHA IR B:ahIvTU—> &I -
N N [ FR 47 152, ~15-15- . . PREE= (BX)
N - BEPZEFIZEA ) A g e Lt ?8;‘ 511 =88
:d—IWKR7Ya—)b B:T77=—Xb=U— BT 7 —L4
N ;= it 3 | HAUGASE 1:53.0 3-3-4-4 [38.9| 83.5 | 9 454 | IEILTBHE (RR)
71112/ b/ TZu 7 * 54.0 (3/8) () |BTTNI=5
L:d—IRAnq1O—- B:7-4Sbovany ry Y avEEMASH T avH
N 8 E-E -1 : —7-8- BREhE (ER)
8 1| @®NIF LY kT4 X it 6 R 1(75?:) 7-7-8-8 | 38.4| 83.2 | 15 &4} e
L:8=/F¥LLy b B:TS5MLFTI-2 H S K8
N . M. FL—0O -53. -9-0— . . BiETF (ER)
olglis @v 177193 o4 M7 (11513/42) 9-9-9-9 [38.5| 81.5| 2 (4:520) ﬁ%ésu
PRl & B gl & Sl = He e VR v 79757714
= — 4 3 | HBX 1:53.3 7-7-6-6 | 38.9| 80.9 | 12 | 476 |AHERE— (RX)
107 /14| 27 =2 [B] 252.0 RY) g |EEES
o140 B:vaFr-—3 N 455
RSN i 4 | BREER 1:53.4 11-11-10-11{ 38.4 | 79.6 | 8 460 |ETEER (BER)
111519 FHZIH A52.0 7E) (+6) ERL—Y>T057
v TRy b BT JIZARNL—Z T -
N S MEZE= -10-10- FEBE (FXR)
2H I TLE— I o4 ulll (11513/5 10-10-10-12| 38.6 | 78.0 | 3 ?3)2 e
LIV ATA—h— B v RoL—> HBITr—L
N NERS :53. -13-13- . . EESE (ER)
f4aARNHY 4 4 5/3_0 1(*753@6 13-13-13-13| 38.2 | 77.6 | 11 g;) jfuiicall
LI ATA—H— B:TF AR5
- =R : “14-13 e
7O%5+1 A2 [B] H o4 577)& 1(75?:)7 14-14-13-13| 38.4 | 76.9 | 13 ‘22? E?k?&g (=)
L:T77RVIT B4 —U—Xx7% H RS
| SREHB . 1= EEH= (FH)
JUJEa— b R+ Ve N B I Il I B} 57
L:hzxex) B:FUEVEC INL T — i
FEH — - — — — — | KE—R (EX)
hI7oF14H%— G 46 (BGE) (=) |DnEEsr
RiTANKSy Y2 B4 —>F1H— 24 N1 Y5
@ 71 L
) 50.0-37.5
NA>Z24 L | 12.4-10.9-13.0-12.5-12.5-12.5-12.5-12.3-12.7
® I —F—@EBIERL
13=3r= 1,16(2,10)-(5,13) (11,14)-15,8(7,9)-12,4-6 3
2= = 1,16,2,10-5,13(11,14)15,8(7,9)-12,4-6 3
Gol=5r= 1,16,10(2,5) (13,14)11,15(7,8,9) (4,12)6 3
40—+ — (x16,10)1(2,5) (13,14)11(7,15)9,8(4,12)6 3
[ N3
B O 10 330H 714K 10-16 630M e E 5-8 560M 3E’ | 10-13-16 4,400/
8 B 10 180F4 10-13 1,070M B = 10-16 1,410 3EE | 10-16-13 19,260M
16 210H 13-16 990M B H 10-16 2,360
13 320H

ABICOVWTRDTEEERROODE. TR LIV,




